Subject: Re: TPC digitization for more than 1000 events
Posted by donghee on Fri, 27 May 2011 13:00:13 GMT

View Forum Message <> Reply to Message

Hi all,

The electron has mostly momentum below 3 GeV. only 2-3% exceed more than 3 GeV.

I'm slightly confusing because of argue of felix.

You produced pion without any problem at (0,0,0).

| have also seen that TPC is very stable with 6 outgoing pion or kaon tracks of psi(3770) decay
at interaction IR(0,0,0).

| will inform you further studies after updating of may11.
And | think this is good reference view to know, if we change IR(0,0,30) region, how will TPC
perform.

Anyhow, thank you for your listening.

Best regards.
Donghee
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